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SEHS4653 Control System Analysis 
Suggested Answer for past exam paper (Semester 2, 2023/24) 
 

  
Question 1 

𝑦𝑦(𝑡𝑡) =
4
5

(𝑒𝑒3𝑡𝑡 − 𝑒𝑒−2𝑡𝑡) 
 
Question 2 
 
 

R(s) C(s)
1 + G2(s)H1(s)

[1 + G1(s)][G2(s) − G3(s)]

 
 
Question 3(a) 

𝐾𝐾𝑃𝑃 = 91,  𝐾𝐾𝐷𝐷 = 2.375 
 
Question 3(b) 

𝑒𝑒(∞) = 0.0521 
 
Question 4(a) 

0 < 𝐾𝐾 < 116 
 
Question 4(c) 

𝑠𝑠 = −1.1 ± 𝑗𝑗2.9 
 
Question 4(d) 

𝑡𝑡𝑝𝑝 = 1.09 s, 𝑡𝑡𝑟𝑟 = 0.67 s 
 
Question 5(a) 

𝐾𝐾𝐶𝐶𝛼𝛼 = 0.4 
 
Question 5(c) 

𝐺𝐺𝐶𝐶(𝑠𝑠) = 1.11
𝑠𝑠 + 4.686
𝑠𝑠 + 12.98

 
 

 
 


